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Economics
Paper II

AL ITET
gyutrent 11

Time Allowed : 75 Minutes] [Maximum Marks : 100

Note : This Paper contains Fifty (50) multiple choice questions, each question
carrying Two (2) marks. Attempt All questions.

GOl : A TRAULThd THY U (50) gl TEd fonl STed. Uoieh TR g (2)

U SRd. @d U Wi

Which one of the following policies
will not be useful for bringing the
economy out of unemployment

equilibrium ?
(A) a rise in minimum wage rate

(B) a rise in government

expenditure
(C) a rise in taxes
(D) a rise in money supply

If the ratio of currency to demand
deposits ratio increases, the money

multiplier value :
(A) increases

(B) decreases

(C) does not change

(D) change in equal proportion
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In classical macro-economic model,
automatic full employment is

ensured if :

(A) Excess demand in labour
market leads to rising real

wage

(B) Excess demand in labour
market leads to falling real

wage

(C) Excess supply in labour market

leads rising real wage

(D) Real wage does not change
whether there is excess demand

or supply in labour market

The imposition of an import tariff

by a nation :

(A) Usually improves the nation’s
terms of trade and increases the

volume of trade

(B) Worsens the nation’s terms of
trade but increases the volume
of trade

(C) Worsens the nation’s terms of
trade and reduces the volume
of trade

(D) Usually improves the nation’s
terms of trade but reduces the

volume of trade

3.

4.

MAY - 11216/II—C

TAGEE] AT 3Tfeies Hfqame, Teted

quf JSAIRTET @ 3 ¥d ST

(A) fter aeRrdie stfafied JmTofiges
RE WA o6 B 3T

(B) #ifHen sTeTRwcdier SAfafisr AmToiiges
e TG B B S

(C) #ifer STSINel MR qReaes

e HS[{d a1e Bd 3THa
(D) #iffer SSRIde 2Afafad ArTon ST

RESMe A WS age '

THA

WM TEE Weh AR

(A) FH=IA: SM=AT Heddeddl SUHe
RN S SN ST SR
AT STl

(B) *IMAT Joaqead! A B TS
A S0 SHTARE
Elcenll

(C) RT=A1 Heaqead SUd ®e HSed
O S0 S|
HZad!

(D) 9MEM=Id: SM=AT Jodqeddl S
GO TEeA S0 ST A=

AR el

Scllelel

Scileled




Until 1971, the SDR had the same

value as :

(A) an ounce of gold
(B) a pound of gold
(C) a US dollar

(D) a British pound

The classical theory of comparative

advantage is based on :

(A) the labour theory of value
(B) law of diminishing returns
(C) law of increasing returns
(D) tariffs

Which one of the following is the

immediate effect of tariff ?
(A) fall in production

(B) rise in production

(C) fall in price

(D) rise in price
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Stability in the Keynesian cross

model requires :

(A) MPC to be equal to 1

(B) MPC to be less than 1 but

greater than zero

(C) MPC to be greater than 1

(D) MPC to be non-negative

A long-run Phillips curve will show
no trade-off between unemployment
rate and inflation under which of the

following circumstances ?
(A) Inflation rate does not adjust

(B) Inflation rate always has an

upward trend

(C) Inflation rate adjusts the

following adaptive expectation

(D) Inflation rate is independent of

unemployment rate
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10.

(@)
b)

(c)

)

11.

Match the following and select the

correct answer from the codes given

below :

Liquidity trap (1) Edmund Phelps
Adaptive (2) Alfred Pigou
Expectations

Wealth effect  (3) John Maynard

Keynes

Restatement of (4) Milton

quantity theory Friedman

Codes :

(A) (a)—(1), (b)—(2), (c)—(3),
(d)—(4)

B) (a)—(3), (b)—(4), (c)—(1),
(d)—2)

(C) (a)—(4), (b)—(3), (c)—(2),
(d)—(1)

D) (a)—(3), (b)—(1), (c)—(2),
(d)—(4)

Real balance effect operates
through :

(A) Investment
(B) Consumption
(C) Taxes

(D) Government spending

10.

(@)
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(c)

(d)
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12.

13.

Friedman’s demand for money
function basically shows which one

of the following statements :

(A) Income velocity becomes a
function of rate of interest and

inflation

(B)

Income velocity becomes a

function of money supply

(C) Money demand always becomes

an inelastic function

(D) Money demand became

independent of rate of return

Devaluation is resorted to :

(A)

Encourage exports

(B)

To increase the growth rate

©)

Give more value to home

currency

(D) Tide over external difficulties
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14.

15.

16.

The International Monetary Fund

started functioning on :

(A) 1st March, 1944

(B) 1st March, 1945

(C) 1st March, 1946

(D) 1st March, 1947

The country which produces

maximum tea in the world is :
(A) India

(B) China

(C) Sri Lanka

(D) Japan

Which of the following markets are
independently regulated by Forward

Market Commission ?
(A) Mutual Funds
(B) Commodity Exchanges

(C) Stock Market

(D) Foreign Exchange Markets

14.

15.

16.
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17.

18.

19.

In India, minimum support price for
agricultural products is finally

approved by :

(A) Union Cabinet

(B) Ministry of Agriculture
(C) The Parliament of India

(D) The President of India

Which state produces maximum

Soyabean in India ?
(A) Uttar Pradesh
(B) Bihar

(C) Rajasthan

(D) Madhya Pradesh

The largest importer of Indian

textiles is :
(A) Italy

(B) Germany
(C) Singapore

(D) USA

17.

18.

19.

MAY - 11216/II—C

WRATd IqATeT=a fhAm eem feRadien

S

o (a)

(gl

T AT S

(A) S TfHses
(B) T HAH
(C) YRAr=T 99E

(D) YRATS ISl

TRATATA  WTefiedsh! HIedl TSI

Hrreie gafd SR Seaed B 2
(A) ST

(B) foer

(C) TST&AH

(D) HAYRYT

YR &= gaid S T34

T ATMHZA -
(A) gt
(B) ST

(C) famR
(D) T

10



20.

21.

The market system fails to produce

public goods because :

(A) There is no need or demand for

such goods

(B) Private firms cannot restrict the
benefits of such goods to
consumers who are willing to

pay for them

(C) Public enterprises can produce
such goods at lower cost than

private enterprises

(D) Their production seriously
distorts the distribution of

income

Under what conditions a

monopolist’s output is efficient ?

(A) Third degree price discrimi-

nation

20.

21.

MAY - 11216/11—C
SSTREAUT HIeSTeh S 3G hivaH

RT3, HROT ¢

(A) 1 K= TR foha T ARTOT T
(B) TIST ITURTHEA TR TR FEIS

S 3K N TREIS! fehd e
TIR 3T, R FAfed 39 Iehd
et

(C) FESITeh STNHEAT WM I
I TSI SETNTHEITAT T

qaTT & TEid e Iehad

(D) = IEATes Scd=1 foaeoma iR

faequ fafo 29

e RIdiel ScUle @eileTdehl hIoTel

TR FrEis™ 1 9d ?

(A) T JHOT HEAN

(B) Second degree price discrimi-
nation (B) fgdt= a0 Heasg
(C) First degree price discrimi-
nation (C) Tom HH 11?:[‘:??;
(D) When there is no price
. (D) SIS HeAws ohell A ARI
discrimination
11 [P.T.O.



22.

23.

24.

A Pigouvian subsidy :
(A)
(B)

cannot exist with externalities

is the same thing as a
Pigouvian tax

©)

is measured in terms of
Pigouvian dollars

(D)

moves production to the socially
optimal level of output

In Tobin’s portfolio balance
approach to money, the indifference

curve of plungers are necessarily :

(A) Negatively sloped and concave

(B) Positively sloped and convex

(C) Positively sloped and concave

(D) Negatively sloped and convex

Which of the following has more
elastic demand ?

(A A commodity without
substitutes

(B) A commodity with close
substitutes

(C) A commodity on which a small
fraction of income is spent

(D) A commodity the use of which
cannot be postponed

22.

23.

24.
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25. The marginal

revenue of a

monopolist facing linear demand

curve approaches price when

MAY - 11216/II—C
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27.

28.

29.

Generally under monopoly the cross-
elasticity of demand with other goods

or services is :

(A) very high

(B) moderate

(C) very low

(D) unity

Pure oligopoly is one where :

(A) There are many firms producing

homogeneous product

(B) There are few firms producing

homogeneous product

(C) There are many firms
producing differentiated
product

(D) There are few firms producing

differentiated product

Market mechanism are unlikely to

provide :

(A) Prices

(B) Non-rival goods efficiently
(C) Supply and demand

(D) Equilibrium

27.
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29.
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30.

31.

In the long-run competitive

equilibrium, the theory predicts

that :

(A) TC = TR and MC = MR

(B) Firms operate at maximum

average total cost

(C) There is an incentive for entry

or exit of firms

(D) TC # TR and MC # MR

“Excess capacity” and selling costs
are the essential characteristic of the

firm in market of :

(A) Monopoly

(B) Perfect competition

(C) Monopolistic competition

(D) Pure competition

30.
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32.

33.

34.

If the production of a good creates
negative externalities the private

market will produce :

(A) too much of the quantity at too

low a price

(B) too much of the quantity at too
high a price

(C) too little of the quantity at too
high a price

(D) too little of the quantity at too

low a price
The aggregate supply of land is :
(A) Absolutely elastic
(B) Absolutely inelastic
(C) More than unit elastic
(D) Relatively elastic

Opportunity costs are also known

..........

(A) spill-over costs

(B)

money costs

©)

alternative costs

(D)

external costs

32.

33.

34.
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35.

36.

37.

The term fiscal federalism was

introduced by :

(A) Dalton

(B) Seligman

(C) Musgrave

(D) Amartya Sen

The basis of corporate tax is :
(A) Total turnover of the firm

(B) Profit after distribution of
dividend

(C) Profit before distribution of
dividend

(D) Capital employed in the firm

The MPC of a consumer is 0.80 and
APC is 0.40, then the income

elasticity would be :
(A) 0.5
(B) 2.00
(C) 1.20

(D) 0.40

35.

36.

37.

MAY -11216/11—C
TESTEE & 9e 9t

SR TS 1
et
(A) Sl
(B) HferH
(C) "HI=
(D) 39

| =T YR B oSTHal

A o W oY
(A) SUAMETI THUT Iedlerd

(B) onureT faaomar e Tfgeren

THT
(C) wmreT faquomemei=n =
(D) FIH TS Sl Wgad

IR AT TR Fa=it 0.80 30T
FOEH YA F<iT 0.40 3T, TR Iq=
[GECIC I

(A) 0.5
(B) 2.00
(C) 1.20

(D) 0.40

17

[P.T.O.



38.

The number of telephone calls
received in 293 successive one-
minute intervals are shown as

follows :

No. of Calls Frequency

0 10
1 28
2 35
3 45
4 65
5 52
6 32
7 12
8 14

The mean and modal number of calls

are :

(A) 3.89, 6
(B) 3.89, 4
(C) 6, 3.89

(D) 4, 3.89
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39. If the coefficient of correlation

40.

between X and Y is —1 or +1 and
a, b and ¢ are constants, then X and
Y are connected by which of the

following relations :

aX_

(A) i

c

B) aX+»bY =c

c
—=a¥Y
© aX 4

¢ =aX

(D) v

Which relationship between the

three means is correct ?

(A) AM. > GM. > HM.

(B) HM. > G.M. > A M.

(C) GM. > AM. > HM.

(D) AM. = GM. < HM.

MAY - 11216/II—C

39. SR X affor Y avefel HeHey WeTuEh

40.

-1 foar +1 18« 1M a, b, ¢ &
feer 9@ omEdel, W X emfor Y

T Weteldeh! hITCAT HaeM s oial

AT ?
A) aX_c
bY
(B) aX+bY =c
c
— —aY
© aX 4
c
— —4X
D aY ¢

T TUEN Tl hIor Hae siel

Aqe ?

(A) AM. > GM. > H.M.
(B) HM. > G.M. > A M.
(C) GM. > AM. > HM.

(D) AM. = GM. < HM.

19
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41.

42.

43.

The formula for constructing index

using Laspeyres method is :

2Py,
A) Py = x 100
(A) Yo Sp.d,
>
(B) Py, = P19 x 100
2Py,

2p,q
P,, = —119 %100
C) For podo

j 2027}
D) Po1 = —

x 100

0<4¢

When (3, is greater than 3, the curve
will be :

(A) Mesokurtic
(B) Platykurtic
(C) Demikurtic
(D) Leptokurtic

The name of the economist who first
defined the concept of shadow prices
is :

(A) Rosenstein Rodan

(B) H. Leibenstein

(C) J. Tinbergen

(D) G. Myrdal

41.

42.

43.

MAY - 11216/II—C

S FcReRT= IS Sefiel PETaR
SHhell ST
A) Py = oo 100
171
®) Po =29 x100
2 011
Zpiq
P, = —% x100
© "o 2Pod
D) Py = P2y 100
0=4o
SRl By B 3 UM SIE STl deel ash

B STl A :
(A) TR
(B) wifeshfésh
(C) SHrBfeH
(D) W<k iE®R

AT fead a1 Gweyasl ol
AT I AT hell 2

(A) =R TSH
(B) TH. TgeErEA
(C) S feTanta

(D) . faef@

20



MAY - 11216/II—C

44. HDI is constructed with reference | 44. HDI =t TSIl WIeiicl &=l SMER shetl
to : SIS
(z) Life expectancy of birth () Aol ﬂlﬁqﬁ CEEN|
(z1) Real GDP/per capita (i) TIEIE Irad Gl ST ScaTeH
(iii) Inflation index (iii) WERTEel fAgeme
(iv) Nominal GDP (iv) AHA TJA ST Ieae
The correct answer is : I T B/ ;
(A) @) and (2) (A) () 3nfor (i)
(B) (i) and (ii1) (B) (i) 31T (i)
(C) (ii) and (iv) (C) (iii) 30 (jv)
D) Gv) (D) @)
45. Harrod-Domar model of economic | 45 ayfifes AT WS-SR TfaHE 21eR
growth is based upon : i et
(z) Warranted growth rate (i) YERRH %g:]q{
(iz) Investment growth rate (if) T[AITH FHIEX
(zi1) Productivity growth rate (iii) ScITEHAI %gaq{
(iv) Natural growth rate (iv) “Efih FEI
The correct answer is : I I BN :
(A) () and (iii) (A) (@) 3o (i)
(B) (iii) and (ii) (B) (iii) M1 (id)
(C) Gv) (C) Gv)
(D) () and (iv) (D) (@) 37O (iv)
21 [P.T.O.



46. Adam Smith argued in favour of a

47.

48.

policy of :

(A) Protection

(B) Free trade

(C) Self-sufficiency
(D) Minimum welfare

Economic growth results from an

increasing :

(A) Propensity to consume
(B) Propensity to import
(C) Propensity to export
(D) Propensity to save

In ‘Global Hunger Index’ 2013
report by International Food Policy
Research Institute (IFPRI), India

has been placed at :
(A) 65th Rank
(B) 66th Rank
(C) 63rd Rank

(D) 68th Rank

46.

47.

48.

MAY - 11216/II—C

sfeq feme A A dRom= A JfRas
el

(A) HT&

(B) T& ATIR

(C) waMYRar

(D) feraM e

T TeTdeh! hI0e S IS e
amfder eifvEsl B ?

(A) STH Yt

(B) AT HI0AT= Yl

(C) Trafa Ivart ga

(D) s=d HIOA= Y

20139 AW TG &R0

TN TE=1 (IFPRI) 9f¥deh SUHAR

iqé$|’|$ SHRATATTHI HIATAT shH gdehl

HE

(A) 65dT
(B) 667
(C) 63T

(D) 68=n
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49.

50.

The Economist who stressed the role

of the entrepreneur in development

was :

(A) Hirschman

(B) Nurkse

(C) Rosenstein Rodan

(D) Schumpeter

The concept of organic composition

of capital is given by :

(A) Marshall

(B) J.S. Mill

(C) Karl Marx

(D) Adam Smith

49.

50.

MAY - 11216/II—C

forerregfshad STHURT SesTehr= YfHeRT

TV ASITSAAN AURREd et ?

(A) BeH

(B) T4

(C) WA UsH

(D) TErX

Weaare g A=l ohad

AN HSH.

(A) T

(B) 9.tg. fqa

(C) T A=

(D) 3Teq Ty

23
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